ENERGIJA IN TOPLOTA - RESITVE

1. Naloga:
Podatki
Ty =93°C =366K Ty,o =18°C =291K Ty =40°C =313 K
_ J J
Ca1 = 880 kg_K Cu,0 = 4200 kg_K
my; =? mHZO = 1,5 kg
ml'Cl' T1+ mz'Cz 'TZ
TK ==
m1 " C1 + m2 " C2
313 = my; - 880366 + 1,5-4200- 291
B my; - 880 + 1,5 - 4200
my; = 3 kg
2. Naloga:
Podatki
Ty,0 =70°C Ty,0 =10°C Ty =?
my,o = 3 kg My,0 = 2 kg
m1 " T1 + mz " T2
TK ==
my +m,
_ 3-70+ 2-10
Kk 342
Ty =46°C
3. Naloga:
Podatki
T;, =100°C =373 K Ty,0o =18°C =291K Ty = 22,2°C = 295,2K
Czn =7 — 4200
Mgy =300 g = 0,3 kg CHy0 = kgK
mHzo = 0,5 kg
ml'Cl' T1+ mz'CZ 'TZ
TK =
ml - Cl + mz " CZ
0,3-czn-373+ 0,5-4200-291
295,2 =

0,3 Cyn + 0,5 - 4200

Czn = 378 k;—K



4. Naloga:

Podatki
Tpp = 64°C =337K Ty,0 =17°C =290K Ty =?
J J
=130 — = —_
Cpp kgK CHZO 4200 kgK
mp, = 300 g = 0,3 kg My,0 = 2,5kg
ml'Cl' T1+ mz'Cz 'TZ
TK =
m]_ ) C]_ + mz ) C2
_ 0,3-130-337 + 2,5-4200-290
K= 0,3-130 + 2,5 - 4200
Tk =290K =17°C
5. Naloga:
Podatki
m=>5kg a) T, =20°C d) AT =50°C
_ J b) Ty =70°C
C_4200kgl( c) t=10min Q=m-c-AT
Q =5-4200-50
Q = 1050000/ = 1050k] = 1,05M]
6. Naloga:
Podatki
m=380g = 0,08 kg A=AW,=60] AW, =Q
_ J AW, = 70 % od 60 ]
C_38Okg_K Q=m-c-AT
A=60] AW, =0,7-60 =42] 42 =0,08-380- AT
AT = 1,4 K
7. Naloga:
Podatki
J
Cled = 2100 kg_K
Da segrejemo 1 kg ledu za 1 K potrebujemo 2100 J toplote.
8. Naloga:
T, =23°C V=8mx6mx2m AT =2K
T, =25°C V =96 m3 = 96000 dm3 = 96000 [
_ J Q=m-c-AT
¢ =4200 % — m = 96000 kg 0 = 96000 - 4200 - 2
V=8mx66mx2m Q = 806400000/

Q =806,4MJJ



9. Naloga:
Podatki

T, = 18°C
T, = 23°C
J

Ccu = 390 kg—K

m = 1ldag = 0,01 kg

10. Naloga:

m = 20 kg

T, =20°C

T, =60°C
J

= 4200 —
¢ kgK

11. Naloga:

Q = 1000/
t=42s
m=2kg

J

= 4200 —
¢ kgK

12. Naloga:
Podatki

T, =80°C =353K

_ J
¢ = 4200 e

m; =2kg

Qi =m-c-AT
Q, =2-4200-353

Q, = 2965200 ]

AT=T2_T1
AT =23 -18
AT =5K
Q
AT =40K
Q=m-c-AT

Q = 20-4200- 40

AW, =Q

m-c- AT
01-390-5

Q=195]

AW, =19,5]

Q = 3360000/ = 3360kJ = 3,36 MJ

Q =42-1000

Q = 42000 ]

T, =30°C =303 K

J
= 4200 —
¢ kgK
m, = 8kg
Q=m-c-AT
AW, =Q
Q,=m-c-AT

Q, =8-4200-303

Q, = 10180800 J

Q=m-c-AT
42000 = 2-4200 - AT
AT =5K
ml' T1+ mz'TZ
TK:

my +m,
_2-80+ 8-30

K= 2+8

Ty =40°C =313 K

Q1 +0; =0z

Qs =m-c-AT
Qz =10-4200-313

Q, = 13146000 J



